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Problema n. 1

a)

∆p =
pγ

v

∂φ

∂t
= vρ0

∂φ

∂t

∆pmax = vρ0ψ02πν

v =

√
γRT

µ
= 342.6 m/s

ρ0 = Mmole/Vmole = 1.3 kg/m3

∆pmax = 0.025 atm

∆p′ = ∆p
√
T/T ′ = 0.024 atm

b)

∆ρ =
∆p
v2

= 2.17 · 10−7 kg/m3

∆ρ′ = ∆ρ(T/T ′)3/2 = ...

c)
I = 1/2ρ0ω

2ψ2
0v = 7.12 · 10−7 W/m2 = 58.5 dB

δrosso = 3.567 · 10−2 rad

∆xspecchio = ∆δ · d = 1.955 mm

Problema n. 2

Commento: questo esercizio e’ nato come fusione di due altri esercizi, ma e’ venuto male...

a)
vAl = νλ = ν2L = 5000 m/s

b)
vair

vAl
=

√(γpρAl

Y ρair

)

c)
x = λ/4 = v/(4ν) = 1/3 m

d)
vtran =

√
N/ρ , N < Y ⇒ v⊥ < v‖

Problema n. 3

a) λ = 2L vs = λν ν =
√
γRT/m/(2L)

∆ν =
√
γR/m

√
T + t−√T

2L
√
γR/m = vs√

T
= 20 t = 25.3◦


